


ABBSOFT COMPUTERS

Compension Management
1 Mark:

Q1: __________ refers to basic pay in the form of wages and salaries.

A. Supplementary compensation

B. Complementary compensation

C. Primary compensation

D. All of the above

Q2: _________ consists of incentives and variable payments, based on either individual output or output of the group as a whole.

A. Supplementary compensation

B. Complementary compensation

C. Primary compensation

D. Secondary compensation

Q3: True or False

The social objective of wage policy is:

i.  Elimination of exceptionally low wages

ii. Establishment of fair labor standards

a. I-true, ii-false

b. I-true, ii-true

c. I-false, ii-true

d. I-false, ii-true

Q4: ________ represent hourly rates of pay.

A. Salary

B. Wages

C. Incentives

D. None of the above

Q5: ______ are also called ‘ payments by results’.

A. Salary 

B. Wages

C. Incentives

D. Perquisites

Q6: ________ is based on the idea that work effort is directed towards a behavior that people believe will lead to desired outcome.

A. Expectancy theory

B. Valence theory

C. Instrumentality theory

D. None of the above

Q7: _______ is the perception by an individual that first level outcomes are associated with second level outcomes.

A. Valence

B. Instrumentality

C. Both A and B

D. None of the above

Q8: ________ theory postulates that a behavior, which has a rewarding experience, is likely to be repeated.

A. Instrumentality theory

B. Equity theory

C. Reinforcement theory

D. None of the above

Q9: ________ theory focuses on the divergent interests and goals of the organization’s stakeholders and the way that employee remuneration can be used to align these interests and goals.

A. Reinforcement theory

B. Agency theory

C. Equity theory

D. All of the above

Q10: ______ ensures that more difficult jobs are paid more.

A. External equity

B. Internal equity

C. Individual equity

D. All of the above 

Q11: _______ involves collecting and evaluating relevant information about jobs.

A. Pay surveys

B. Job analysis

C. Job documentation

D. Job hierarchy

Q12: ________ is a result of job evaluation.

A. Job analysis

B. Pay surveys

C. Job documentation

D. Job worth hierarchy

Q13:  Under ______ method similar key jobs are identified between the organization and the relevant wage particulars about those comparable jobs are collected.

A. Key job matching.

B. Occupational method

C. Job evaluation method 

D. Broad classification method

Q14: In ________ system, the worker is paid on the basis of time spent on the work irrespective of the work done.

A. Piece wage system

B. Time wage system

C. Both A & B

D. None of the above

Q15: In this system, the payment is at the time rates, but adjusted to the cost of living.

A. Time wage system

B. Adjusted time wage system

C. Piece wage system 

D. None of the above

Q16: In _________ scheme, the rate per piece is increased as the output level is increased.

A Differential piece rate

B. Simple piece rate

C. Time rate

D. None of the above

Q17: ________ is the external factor affecting remuneration.

A. Labor market.

B. Cost of living

C. Labor unions

D. All of the above

Q18: ________ is the internal factor affecting remuneration.

A. Labor market

B. Cost of living

C. Labor unions

D. Business strategy

Q19: ________ is that wage which is sufficient to provide for the bare physical needs of a worker and his family.

A. Minimum wage

B. Simple wage

C. Maximum wage

D. None of the above

Q20: _________ is something more than the minimum wage providing the bare necessities of life.

A. Minimum wage

B. Fair wage

C. Living wage

D. All of the above

Q21: _______ allowance is given to protect the real wages of workers during inflammation.

A. TA

B. DA

C. Both A and B

D. None of the above

Q22: According to _______ D.A is paid at a flat rate to all workers irrespective of their wage levels and regardless of changes in the consumer piece index.

A. Flat rate

B. Graduated scale

C. Index based D.A

D. None of the above

Q23: Under _________ method D.A increases with each slab of salary.

A. Flat rate

B. Graduated Scale

C. Index based D.A

D. All of the above

Q24: The minimum wages act was formulated in _______.

A. 1948

B. 1958

C. 1925

D. 1987

Q25: The main objective of __________ is to prevent discrimination in remuneration on the basis of sex.

A. Equality act

B. Equal remuneration act

C. Equal flat rate

D. None of the above

Q26: Wages and allowances of central government employees are determined through ________.

A. Wage boards

B. Wage legislations

C. Pay commission

D. None of the above

Q27: _______ commission prescribed the maximum and minimum salary.

A. National commission

B. Fifth pay commission

C. Chakraborty commission

D. All of the above

Q28: _______ committee stressed the need for uniformity in wage payments across regions, industries, and occupations.

A. Fifth pay commission

B. National labor commission

C. Chakraborty commission

D. Committee on fair wages

Q29: _______ refer to performance-linked compensation paid to improve motivation and productivity of the employees.

A. Fringe benefits

B. Incentive wages

C. Salary 

D. Wages

Q30: _______ plan recognizes individual efficiency and pays bonus on the basis of time saved.

A. Hasely plan

B. Emersion plan

C. The Rowan plan

D. None of the above

Q31: ________ plan was introduced by D. Rowan in 1901.

A. Hasely plan

B. Rowan plan

C. Emersion plan

D. bedeaux plan

Q32: Under ________ plan a standard time for the job is set scientifically and it is expressed in terms of points.

A. Hasely plan

B. Rowan plan

C. Bedeaux plan

D. None of the above

Q33: _______ came out with a multiple piece rate system

A. Merrick’s differential piece rate

B. Gantt task

C. Hasely plan

D. Rowan plan

Q34: Under ________ plan constant proportion of the added value of output is paid to workers who are responsible for the addition of the value.

A. Scanlon plan

B. Town plan

C. Rucker plan

D. None of the above

Q35: ________ is an important supplement to wages and a good financial incentive.

A. Merit rating

B. Profit sharing

C. Co-partnership

D. None of the above

Q36: ________ stands for improved productivity through sharing.

A. Gain sharing

B. Profit sharing

C. Improshare

D. Hemisphere

Q37: ________ refer to various extra benefits provided to the employees, in addition to the compensation paid in the form of wage or salary.

A. Incentives

B. Fringe benefits

C. Both A and B

D. None of the above

Q38: ________ is a fringe benefit.

A. Payment for time not worked

B. Employee security

C. Safety and health

D. All of the above

Q39: ________ is a component of executive remuneration.

A. Salary

B. Bonus

C. Long term incentives

D. All of the above

Q40: ________ means any profit or gains arising from transfer of a capital asset.

A. Capital gains

B. Cost of capital

C. Asset gains

D. None of the above
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2 Mark: 

Q41: True or False

The social Objective of wage policy is:

1. Elimination of exceptionally low wages.

2. 2. Establishment of fair labor standards.

A. 1-true, 2-false

B. 1-true, 2-true

C. 1-false, 2-false

D. 1-false, 2 true

Q42: _______ are also called ‘ payments by results’, and ________ include challenging job responsibilities, recognition of merit, growth prospectus, competent supervision etc.

A. Fringe benefits, incentives

B. Incentives, monetary benefits

C. Incentives, Non-monetary benefits

D. None of the above

Q43: ________ means a belief that a particular level of effort will be followed by a particular level of performance and ________ is the perception by an individual that first level outcomes are associated with second level outcomes.

A. Valence, instrumentality 

B. Expectancy, instrumentality

C. Instrumentality, expectancy

D. Valence, expectancy

Q44: According to expectancy theory motivation is:

A. Expectancy

B. Instrumentality

C. Valence

D. All of the above

Q45: ________ theory postulates that a behavior which has a rewarding experience is likely to be repeated and ________ theory is also known as ‘ social comparison’ theory.

A. Reinforcement theory, equity theory

B. Equity theory, reinforcement theory

C. Expectancy theory, reinforcement theory

D. Reinforcement theory, expectancy theory

Q46: ________ ensures that more difficult jobs are paid more and ________ ensures that jobs are fairly compensated in comparison to similar jobs in the labor market.

A. Individual equity, internal equity

B. Internal equity, external equity

C. External equity, internal equity

D. Internal equity, individual equity

Q47: True or False:

Objectives of a sound remuneration administration is

1. To establish a fair and equitable remuneration

2. To attract competent personnel.

A. 1-true, 2-false

B. 1-false, 2-false

C. 1-true, 2-true

D. 1-false, 2-true

Q48: ________ involves collecting and evaluating relevant information about jobs and ________ is a formalized way to document job content.

A. Job analysis, job documentation

B. Job documentation, job analysis

C. Job analysis, job description

D. Job description, job specification

Q49: Under ________ method similar key jobs are identified between the organization and the relevant wage particulars about those comparable jobs are collected and In ______ similar jobs are identified and the necessary data about those classes are collected.

A. Key job matching, key class matching

B. Occupational method, key class matching

C. Job evaluation method, broad classification method

D. Key class matching, occupational method

Q50: ________ is the external factor affecting remuneration and _______ is the internal factor affecting remuneration

A. Labor market, business strategy

B. Business strategy, labor market

C. Labor law, society

D. Cost of living, labor unions

Q51: Which one of the following is a challenge to remuneration?

1. Pay secrecy 

2. Skill based pay

3. Employee participation

4. Salary reviews

A. 1,2,3

B. 1,2,3,4

C. 2,3,4

D. 1,4

Q52: ______ wage provides the foundation of pay pocket and ________ wage is that wage which is sufficient to provide for the bare physical needs of a worker and his family.

A. Basic wage, minimum wage

B. Minimum wage, basic wage

C. Fair wage, living wage

D. Living wage, fair wage

Q53: Under _________ method a higher rate of D.A is prescribed for lower pay scales and a lower rate for higher pay scales and under ______ method a flat rate per point of index is prescribed so that all workers determine the same amount of D.A irrespective of their pay scale.

A. D.A linked to index and pay scales, index based D.A

B. Graduated scale, flat rate

C. Flat rate, graduated scale

D. Index based D.A, Flat rate

Q54: _________ and _________ are state Legislations on compensation.

A. Minimum wages act, 1948

B. Payment of wages act 1936

C.  Companies act 1956

D. All of the above

Q55: Payment of wages act was formulated in _________ and Industrial dispute act was formulated in ________.

A. 1936, 1947

B. 1945,1980

C. 1934, 1985

D. 1990, 1890

Q56: True or False
The main objective of equal remuneration act is to regulate the payment of wages of certain classes of employed persons.

A. True

B. False

Q57: _________ committee introduced the concepts of minimum wage, fair wage and living wage and ________ committee stressed the need for uniformity in wage payments across regions, industries and occupations.

A. Committee on fair wages, chakraborty committee

B. Fifth pay commission, committee on fair wages

C. National commission on labor, chakraborty committee

D. Fifth pay commission, chakraborty committee

Q58: True or false

Essentials of a true wage policy are:

1. Wage levels in different occupations and regions should be equitable.

2. A minimum wage should be guaranteed to every employee in the form of social security or unemployment insurance.

A. 1-true, 2-true

B. 1-false, 2- true

C. 1-false, 2-false

D. 1-true, 2- false

Q59: True or False:

Advantage of wage incentive plan is:

1. Wage incentive plans provide an opportunity for hard-working and ambitious workers to earn more.

2. Incentive plans help to improve discipline and industrial relations.

A. 1-false, 2-false

B. 1-true, 2-true

C. 1-false, 2-true

D. 1-true, 2-false

Q60: Which one of the following are essentials of sound wage policy:

1. Proper climate

2. Worker’s participation

3. Scientific standard

4. Simplicity

A. 1,2,3

B. 1,2

C. 1,4

D. 1,2,3,4

Answers: 

41-B
42-C
43-B
44-D
45-A
46-B
47-C
48-A
49-A
50-A
51-B
52-A 53-A
54-D
55-A
56-B
57-A
58-A
59-B
60-D

4-Mark

Q61: Which one of the following are time-based incentive plans.

1. Hasely plan

2. Rowan plan

3. Emerson plan

4. Taylor plan

5. Merrick plan

A. 1,2,3,4

B. 1,3,4,5

C. 1,2,3

D. 2,3

Q62: Which one of the following are output-based Incentive plans.

1. Taylor plan

2. Merrick plan

3. Gnatt plan

4. Hasely plan

5. Rowan plan

6. Bedeaux Plan

A. 1,2,3,4,5,6

B. 2,3,4

C. 3,4,5,6

D. 1,2,3

Q63: Match the following:
1. Hasely plan


I. Standard time is fixed for each job or operation.

2. Rowan plan


ii. It ensures minimum time wage.

3. Emerson efficiency plan
iii. Standard time for job is determined scientifically.

4. Bedeaux plan
IV. Standard time for the job is set scientifically and expressed in terms of B’s.

A. 1-I, 2-ii, 3-iii, 4-iv

B. 1-iv, 2-iii, 3-ii, 4-I

C. 1-ii, 2-iii, 3-iv, 4-I

D. 1-I, 2-ii, 3-iv, 4-iii

Q64: True or False:
The basic feature of Merrick’s scheme was:

1. Up to 83% of the standard output workers are paid at the ordinary piece rate.

2. 83% to 100% at 110% of the ordinary piece rate

3. Above 100% at 120% of the ordinary piece rate.

A. 1-true, 2-true, 3-true

B. 1-false, 2-false, 3- false

C. 1-true, 2-false, 3-false

D. 1-false, 2-false, 3-true

Q65: Match the following:
1. Merit pay
            I. The payout is dependent on individual employees performance.

2. Rucker plan
ii. In this plan employees receive a constant proportion of the added value.

3. Town plan
iii. Main objective of this plan is to bring about cost reduction by foreman and workers.

4. Scanlon plan
IV. Under this plan, constant proportion of the added value of output is paid to the workers who are responsible for the addition of that value

A. 1-iv, 2-iii, 3-ii, 4-I

B. 1-I, 2-ii, 3-iii, 4-iv

C. 1-iii, 2-iv, 3-ii, 4-I

D. 1-I, 2-ii, 3-iv, 4-iii

Q66: Match the following:
1. Profit Sharing
I.  An arrangement by which employees receive in addition to wages, a share fixed in advance in the profits of the enterprise.

2. Labor Co-partnership
ii. It is a system wherein employees are made partners of the enterprise and are allowed to participate in the management and control of the undertaking.

3.  Improshare
iii. Improved productivity through sharing.

4. Employee stock options
IV Employees are allotted companies shares below the market price.

A. 1-ii, 2-iii, 3-iv, 4-I

B. 1-I, 2-ii, 3-iii, 4-iv

C. 1-I, 2-iii, 3-iv, 4-ii

D. 1-ii, 2-iii, 3-iv, 4-I

Q67:  Arrange the steps of administering fringe benefits in correct order:

1. Assess environmental factors

2. Establish benefit objectives

3. Assess competitiveness

4. Communicate benefit information 

5. Control benefit costs and evaluation

A. 1,2,3,4,5

B. 2,1,3,4,5

C. 1,3,2,4,5

D. 2,4,3,1,5

Q68: Which one of the following are components of executive remuneration:

1. Salary

2. Bonus

3. Long-term incentives

4. Perquisites

5. Wages

A. 1,2,3,4,5

B. 2,3,4,5

C. 1,2,3,4

D. 2,3,5

Q69:  Which one of the following are inputs to Equity theory:

1. Age

2. Attendance

3. Interpersonal skills

4. Job effort

5. Level of education

6. Challenging job assignment

7. Fringe benefits

A. 1,2,3,4,5,6,7

B. 2,3,4,5,6

C. 1,3,4,5,6,7

D. 1,2,3,4,5

Q70: Match the following:
1. Internal equity
I. Deals with the perceived worth of a job relative to other jobs in the organization.

2. External equity
ii. Deals with the issue of market rates for jobs

3. Individual equity
iii. Internal equity deals with an individual’s perception of how he is being paid relative to other individuals within the org.

4. Process equity
IV. How employees perceive the fairness or equity in the administration of the compensation system.

A. 1-ii, 2-I, 3-iii, 4-iv

B. 1-iii, 2-iv, 3-I, 4-ii

C. 1-ii, 2-iii, 3-I, 4-I

D. 1-I, 2-ii, 3-iii, 4-iv

Q71: Arrange the steps of Remuneration in correct Order:

1. Job documentation

2. Job analysis

3. Pay survey

4. Job Hierarchy

5. Pricing jobs

A. 2,1,4,3,5

B. 1,3,2,4,5

C. 1,3,2,5,4

D. 5,4,3,2,1

Q72: Which one of the following external factors affects Remuneration?

1. Labor market

2. Cost of living

3. Labor unions

4. Government legislations

5. Society 

6. Economy

A. 1,2,3,4,5,6

B. 2,3,4,5

C. 1,3,4,5,6

D. 2,4,5,6

Q73: Match the following:

1. Minimum wages act
I.   1936

2. Payment wages act

ii.  1948

3. Payment of bonus act
iii. 1965

4. Companies Act

IV.1956

A. 1-I, 2-ii, 3-iii, 4-iv

B. 1-ii, 2-I, 3-iii, 4-iv

C. 1-ii, 2-iii, 3-iv, 4-I

D. 1-iv, 2-iii, 3-ii, 4-I

Q74: Which one of the following are the components of pay structure in India.

1. Basic wage

2. Basic salary

3. DA

4. Bonus

5. Fringe benefits

A. 1,2,3,4

B. 2,3,4,5

C. 1,2,3,4,5

D. 3,4,5

Q75: Which one of the following are objectives of Fringe benefits:

1. To create and improve sound Industrial relations.

2. To boost up employee morale

3. To motivate the employees by identifying and satisfying their unsatisfied needs.

4. To provide qualitative work environment and work life.

A. 1,2,3,4

B. 1,3,4

C. Only 4

D. 1,4

Answers:

61-C
62-D
63-A
64-A
65-B
66-B
67-B
68-C
69-D
70-D
71-A
72-A

73-B
74-C
75-A
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